
Test – Industrial Revolution – Imperialism (14-24)
 

14.  Explain why the Agricultural Revolution was necessary to start the Industrial Revolution. (4 
pts)
 
 
 
 
 
 
 
15.  Explain why the existence of individual wealth was a necessary ingredient to the beginning 
of the Industrial Revolution.   Where did this wealth come from? (4 pts)
 
 
 
 
 
 
 
16a. Explain one similarity between the Japanese Industrial Revolution and the British Industrial 
Revolution. (2 pts)
 
 
 
 
 
16b.  Explain two differences between the Japanese and British Industrial Revolutions. (2 pts)
 
 
 
 
 
17a.  Explain two positive social impacts that arose as a result of the Industrial Revolution. (2 
pts)
 
 
 
 
 
17b.  Explain two negative social impacts that arose as a result of the Industrial Revolution. (2 
pts)
 
 
 
18.  Explain why many people thought Socialism was a logical response to the Industrial 



Revolution. (4 pts)
 
 
 
 
 
 
19.  We discussed five long-term causes of WWI.  (Nationalism, Imperialism, Militarism, 
Alliances, and Ethnic Tension)  Describe any two of these long-term causes.  Be sure to include 
how they led to war.  (4 pts)
 
 
 
 
 
 
 
 
 
 
 
 
20.  Give two reasons why the Treaty of Versailles was a failure. (4 pts)
 
 
 
 
 
 
21a.  Describe two economic reasons that European nations participated in Imperialism. (2 pts)
 
 
 
 
 
 
21b. Describe two social reasons for European Imperialism. (2 pts)
 
 
 
 
 
 
 
22.  Describe two of the forms of Imperialism. (Colony, Protectorate, Sphere of Influence, 
Economic Imperialism) (4 pts)



 
 
 
 
 
 
 
 
 
 
23a.  Explain what happened in Africa as a result of European Imperialism. (2 pts)
 
 
 
 
 
23b.  Explain what happened in China as a result of European Imperialism. (2 pts)
 
 
 
 
 
 
24a. Provide one similarity between Imperialism in China and Imperialism in either Africa or 
India. (2 pts)
 
 
 
 
 
 
24b.  Provide one difference between Imperialism in China and Imperialism in either Africa or 
India. (2 pts)
 
 
 
 


